POLAR TIDE/PSI
start time: 10/30/06 04:37:56 UT

Energy Flux
averaged

stop time: 10/30/06 06:27:00 UT L gg
Cotepee opten 2 Obs emoroys 0.37 ~ 41062 & £
sun pulse spin angle: 0.00° — 360.00° > 5 s
standby polar channels: 1 — 7 g 30
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fime 04:40 04:50 05:00 05:1

Re 2.0 2.0 2.0 2.2 2.4

Lshell 25.9 5.6 3.0 2.4 2.4

mlt 8.3 8.1 8.0 7.9 7.9

mlat 74.1 54.2 35.0 18.3 4.4

invliat 78.7 65.1 54.9 50.2 50.2

tide_Ilz_v6.1.2 instr_sens:

Sat Nov 4 02:40:32 2006 calibration:

plot: 10610300437_0627_sp.eshtr.ps mass_calibr T n: ass_calib.v

no minimum subtracted jon_mask: t000000_v0.mask(1.00)

0O 05:20 05:30 05:40 05:50 06:00 06:10 06:20

~23.9 -30.3 -357 —40.3

s/c potential = 0.0000
attitude: 06103002.cdf
orbit: 06103004.cdf

: 06103001.dat
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